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H QUESTION 1
4 Freud's view of
! means thatw of humankind is partly based on the ass;
X umption of bwlogical ang
? (1) th Psychic determinism Trys
g 4 trae pferson 'S Constantly caught up in ph
: @ hur?ls ormation ysical Principles of energy consumptio
detean drives are PhySIOIOQmany P ption, conservation and
¥ o B rmines behaviour, takes place within thn rooled within the body ‘and that th
Person s caught up in a constant © psyche e conflict which
S, demands of society conflict between his or her sexual and a
| “4) gu;‘nan dnives are constantly in conflict with S i
3+ ehaviour the biological and psychic factors which determine
e
; O ZoN,
B 5
E QUESTION 2
? Freud divides life d
ey - lfe drives Into two types. namel
~ ’ and ' ely (a)_ which ens
‘jf (c)__. which ensure the continued existence of the (d)_ure the continued existence of the (b)___
th (1) (a) eros drives
\"’ (2) (a)d dnves fg; :fl ?:;es aed (c) thanatos dnves  (d) death drive
Bifa + (3) (a)egodnves (b)ego Y tioges 8 iggudafl“;es (d) secondary needs
rives
J (4) (a)egodnves (b)ndividual (c) sexual drives Eg)) ‘:pemes
— \\‘%‘
% Oct 2017
i QUESTION 3
Thabo got out of the wrong side of the bed one moming He was feeling highly mtable and attacked
R everybody verbally During the day, he accused his wife, children and colleagues of being impatient and of
attacking him verbally all the time What defence mechanism 1s Thabo using according to Freud?
(1) Projection ‘
(2) Rationalisation Lo \f U \ ¥
3) Displacement XX \CKY ) :
(4) Reaction formation ]
: OcC 2017
= =
" % TION 4
B between healthy and psychologically disturbed people 1S méhz
Freud, one of the differences be th psychic conflicts Compared to disturoe f
the defence mechanisms O !

According to
types of defen

@; i individuals, psy

wi
anisms the two employ to cope
ii;:;:ally healthy people aré more successful at employing

: \ t \3 | it e

\askt §emes

tionalisation
displacement and ra “ 4
(1) dxsglacement and sublimation s g
@ tion and sublimation

reaction forma

(4) identification and rationalisation
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QUESTION 8

f
. -

You have some:painful expenences that you unconsciously block from entenng your consciousness |

because they are tao painful for you to handie Which defence mechanism/s are you using in this process? -

. (1) Demal and resistance L_m =
= 1 (2) Subhmaton E
_% (3) Repression ;’_Nﬁm_ g
~—— "1 (4) Reaction formation |
. 0CE 01T ¥ o kR0l + OLE20|S Y Mmay 2013 + O0cT 201}
3 QUESTION 9 o T |
e EL_-‘_..____ o
After the divorce of his parents and the trauma of being left with his penniless mother while his father took !
___|offwith his mistress, five-year-old Johnny, who was toilet trained when he was two, began wetting his bed fh oo
\ ::e Freudian analyst, whom Johnny's mother consults for help, will most ikely explain Johnny's behaviour 1
E— e ant
(1)  regression and fixation as a result of feeling overwhelmed by anxiety '
E—@ ::: \r::;essmn of sexual feelings towards his mother now that the rval figure of the father Is out of r. '+
~—[(3) the sublimation of aggressive feelings towards the father who left them ’_‘”_F"”‘
(4) the projection of castration anxiety in the act of wetting his bed
Oc 2o\ 1
' | QUESTION 10 0 AT
‘ In the face of a pathological outbreak of cnme and violence such as we are expenencing in South Afnica’ |
—————_| today, Freud most probably would have suggested that we ‘
e | (551? provide sacially acceplable avenues for the discharge of aggressive energies in the promotion of, for ’;
i, example, competitive types of sport B
—_____|4b)y strengthen moral prescriptions against violence to make its expression less acceplable i
1 (c) wview'these phenomena as the healthy release of the death drive and as conducive to society In the | TR,
v long run |
(), ‘come Lo terms with the'fact that the aggressive inclination Is part of human nature and that we can '__ e
‘ only hope to curb but never to eliminate it | !
—_— |
' | The correct answer Is  camas
|-} (1) All of the above B
— 1@ &M 4 ?
- (3) ()i (b) & (d) ‘ i ’
4w @em” !
—— R
4
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QUESTION 1 \
i
Freud can be regarded as a conflict theonst because ‘
1 :;]ee V\:':ls N constant conflict with followers of his theory who broke away to formulate their own | :
N ories ‘ \
4 2 according to his theory, man is caught up in constant conflict between his drives and the moral v
demands of society.
3 conflict i1s a necessary aspect in our lives for us to survive
4

we experience conflict as a result of our Inabilty to use effective defence mechanisms

RO

W\QV 2017 ¢ ¢t 2913

b ——

QUESTION 2

Freud divides dnives into two main categories, namely (a)

1 (a) ego drives (b) sexual drives
: 2 (a) ife drives (b) death drnives
Pl 3 (a) Ife drives {b) impetus
4

(a) conflict drives

(b) ego drives

W\Q\.{ 2017 & oCtC 2013

. QUESTION3

The following are statements about functioning of the id according to Freud's theory Choose the |
correct combination of answers to answer the questions }

The id 1s selfish and unrealistic and pursues the (a) This means that the id (b) Thed'|

!
also functions according 1o (c) , which means that it 1s ncapable of any reflection and planning |
The only form of drnive satisfaction of which the id 1s capable s (d) - - - - -

|
BN

(a) pleasure principle
(c) the pnmary process
2 (a) primary process
(c) the pleasure principle
3 (a) wish fulfilment principle

(c) the primary process
4 (a) the pleasure principle
(c) the secondary process

T

(b) wants to satisfy its dnives immediately
(d) wish futfilment

(b) desires immediate object choice

d) cathexis

Eb; wants to satisfy ils drives immediately

d) cathexis and anticathexis

fb; wants to satisfy sexual drives before any others

\
{
(d) wish fulfiiment t
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QUESTION 4

1 Bongani Iikes watching hair raising action movies as woll as engaging in fife threatening actities ke
car racing Ho finds pleasuro in the thrll, the rush and the kense of advonturp

b Aand the and mastery he L

E axperiences dunng these activities In terms of Freud's theory, Bongani's enjoyment of these sports’

-' represents a way of salisfying his L

| 1 0go drives. '

E 2 soxual and death drives -

i 4 @ death dnve l

| 4 conflict dnve L

!‘ T s —_ ot e e a ETR———— 'J

: oy ot ¢ ) g dd ¥

| QUESTION 6 1

i According to Freud's fpsychoanalyttc thoory’.gﬂxahon or partial fixation in the phallic stage might lead td I

;"... —— | | » | 'r.‘m ..... R

| a0 sexial adaptation problems N

i 2 complete regression to the oral phase |

L. 3  conflict with authonty }

| 4 punitive superego | 3

B | OUTEOR g

QUESTION 6 - ) = ;

| —

| - Moreki Iikes spending his money on unnecessary items and complains to a'friend that his wife is §

L. extravagant with money He blames her bitterly whenever they run short of financial resources and S|

 there 13 a need to buy something in the house Contrary to his allegation; his wife 1s in fact the one who 7

i Mmakes sure that the family's money 1s spent wisely She 1s heartbroken becauseishe 1s aware that he 1s !,

i  the one who 1s often unable to account for his expendtture; In terms of Fraud's theory, which defence o A

L mechamism is Moreki using? {

E., | Projection |

B2 Reaction formation e

1 '3 Displacement

14 Hatlonallslatlon ~~~~~~

A S AVY\ d ,\.‘,_’z.',o._,_l.___m_ 2 ¥ |

. QUESTION? R A

i_ -, The Dikobe's'family wasfhijackedjon thewr way home from a‘Weddig ceremany Thew aﬁﬂwyﬁwﬁ 4

F  Mogale, was shot dunng the Incident:and died on'thespot’ Mrs Dikobe is unconsciously '?lﬁ'ﬂf'?ﬁ ”.“:-, P
.~ memory of the incident from entering/ her consciousness becalise the experience is oo painful for het: },

"“""g"’»“ to handle Which defence mechanism/s 1s she using in this process? ooy

P T g Denial and resistance e

i 2 - Sublmaton i

- Y81 Repression 11} B

‘4 Reaction formation i

[T TR S A !
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QUESTION 1

Freud's theory ts based on the assumption/s that human beings

(a) determine ther own parsonalities by the kind of moral choices they make
(b) are dnven by persistent forces In the psyche which are in‘conthict with the noms of society
(c) funchon with the help of energy which is converted from a physical-biological form to psychic

energy
(d) tryto expenence dnve satisfaction in a goal-directed and meaningful way

The correct answer IS

(M @
(2) (b)
(3) () &(c)
(@) (b)&(d)

I ———————

. 0LE 0l + may 203+ ocCktzoll

e e

- QUESTION 2

d that the 1d, ego and superego function on ditferentlevels of consciousness In view of this

Freud asserte Brego’
owing statements Is correct?’

contention, which one of the foll

(1) Thed functions on the unconscious level, the ego on the preconscious level and the superego on

. the conscious level

(2) The 1d functions on the unconscious and preconscious levels and the ego and superego on the

. conscious level

*' ~— (3) Thedfunctions primanly on the unconscious level but also on the preconscious level, and the ego
n all three levels of consclousness

velbutalso onthe preconscious level, and the’ego; |

l+ and superego function equally o
ough not to the same extent;

{4)) Thedfunctions primarily on the unconscious le
and superego function on allthree levels of consciousness, alth

- TER.
15

o e—
et et e s e et

T —— 4

e

S ——

P S S

A5 et e o 7 oA

e b s o s 4 e

SCPORRORIIETTY  FOTv R —
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] In Freudan terminology, cathexis refers 1o}
) (1) the psychic energy that is transterred onto a
W roprate objects of drive satisfaction way that
makes these objects attractive or desirable *pp i l p——
| (2) asexual chmax
ey (3)
@

the release the ego expenences whentis freed f |
rom 5
FeaiRy S thisatpar oo the conflicting interplay of the id, tho physical

- the cathartic relief of tension after a long build-up of tension

due 1o dolayod drive satisfaction

- ‘ o o
.DCeZolb v 0CT20(4 + may z0!3 + 0OCT 01|

E | - B v

QUESTION 4 e

E | Tft;abo is faced with the conflict of sexually desinng his best friend’s wite According 1o Freud, the most
: - eHective strategy Thabo could employ to deal with this conthct 1s to

»-—L'L (1) resist the temptation and repress his drive out of loyalty to his friend
(2) fully satisfy his desire by secretly having sex with his best friend's wife |
———______ (3) denythathe has anysuchdesire by becoming convinced that his best friend's wife 1s actually quite
unattractive
(49 sublimate his desire for his best friend's wife by having sex with his own wife
OcCt 2o o n s
£ 1.0c b t 0CT 2017 + oct=o!S + May zol3 t octzol|
QUESTION 5

After the divorce of his parents and the trauma of being left with his penniless mother while tus father took
off with his mistress, five year old Johnny, who was tollet rraned when he was two, began wetting his bec‘i
B The Freudian analyst, whom Johnny's mother consults for help, will most hkely explan Johnny's

| S | behaviour as
l It of feeling overwhelmed by anxiety
eqresston and fixation as a resu of feeling
R | g_; trhg repression of sexual feelings towards his mother now that the nval figure of the father s out of
the way

e (3)  the sublimation of aggressivé feelings towards the father who lett them
(4) the projection of castration anxiety in the act of wetting hus bed

Scanned by CamScanner
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QUESTION 6

;r A pastor has a fngid wifé who feflises\to have'sexual relations with him He —
.~ 'damnation on everyons who'commits:adultery He begins advocatmg astrict dreszrzﬁggefzrrt‘renlelfang f
r in his congregation - they have to wear long skirts' andhigh-necked blouses with' long. sleeves fifissand
| According to Freudian theory, the defence mechanism which best explains the pastor's behaviour is ?
P‘“ . (1) regression b
i (2) identification L
B (3) rationalisation | q
B L (4) - reaction formalion A —
R e N |
OcCE 201k + 20 e | apen
kw may & \b VWQq wIS + _O0CE 201 -~ £
S
! PR STy
?—.‘_‘_7 il 4 ‘
| QUESTION 7
i ~ |Freud regards dreams as the royal road to the unconscious because
i»,
| (a) there is no other way that repressed matenal can be brought to light _ e
?-——“*— (b) ‘dreams. contam disguised wishes and desires which allow the analyst, by the method of {ree L
'assocuahon. to uncover the underlying prtoblemsl . ST
s=———— (¢) dunng sleep the preconscious censorng of the ego 18 less effectnve than during the wakmg state,’
i " allowing forbidden but disguised desires to break through to c‘onsctousness { - SRS LA |
The correct answer is I

B (1) (a)(b)&(c) —
E (2) _(a)&(c)
P 2 @ ()& (c) | A
- 2 |
~ . 0CE 20lb + mayzo/3 + occzoll
S - L
k | S
P QUESTION 8
~——____  Amother, who breastied her baby, wants to return to work and staits feeding her baby from a bottie'and j
- then a cup in order to wean her The baby begins to suck her thumb, blanket and pillow Accordingto
L——_____  'psychoanalytic theory, this baby may
r ' 1 P 1\ et |

| {a) 'become fixated at the oral stage of development
- (b) develop an over dependence on other people ¢ - $is i
. o | (¢) failto actualise her orgamsmic potential Adoatesdtinelg 2

""’2 | (d) develop a weak egd’ ! 1) Al of the above , e
.- f T peepEsey @0

o () (a)&(b) 4

(4) (C) & (d)

r H
. -~ d . i

& &.f&h‘xh -3 \x"::
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QUESTION 1
in the therapoutic situation, when the patient's repressed feelings of love or hatred towards his father

are displaced such that the therapist serves as a substitute object for these repressed feelings, this
refers to 4

s o e

Substitution

Projection {
Transference

Identification

BWN -

N

e e A 4

| At Bl il

QUESTION 2 A
. By painting nudes an artist can give vent to sexual drives in a socially acceptable way Freud refers

], MAU 20\
QUESTION 3

§

T -
i

| utc , who atibutes fang the
PN 3

displacement
repression
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QUESTION &
et According to Freud

~i. (a) theid functions on the preconscious and unconscious lavel according to the plB‘a il pr:r:celp“e
(b) the ego funchions on the conscious and preconscious level according to the reality princip

~e— | (c) the superego functions on the conscious and unconscious level according to the moral principle
! (d) all of the above

The correct answer is

() (a) B)&(e)
1@ (@ab

T Q) @&
| (4) Allofthe above '

e B R ——p——

| Moyl

QUESTION 10
— According to Freud, the Iife dnive ,

| SRR

P——t— )

s the inclination in all
. R (2)7 canbedividedinto th
————————— (3) provides energy for t

~ (4) combines with the d

-

living organisms to become the best they can be | o
& ego drives and the sexual drives

he functioning of the superego
eath drive In assuring the survival of the individual

| C—
et SR LA PN/ OVUU U ).

J | o« 701c
QUES“O&{IH 7 - I

Defence mechanisms according to Freud refer to

’5 (1) the social dmension of the individual

———=_1 (2) the end product of the socialisation process in which education plays an important role and in
1 % which values are organised so that both changing and relatively constant organisations are
i included

(3) * strategies which the ego uses to defend fself agamnst the conflict between forbidden drives and
moral codes

(4) the relatively stable organisation of all physical, psychological and spirtual charactenstics that
determine the individual's behaviour in interaction with the environment

5 T 7

oIS WliricINY
QUESTION 2

9 The view that behaviour is the ‘outcome of the interaction between theundividual’s characteristics and
. - the situation in which the behaviour occurs; refers to the viewpoint

(1) personism

(2)  nteractionalismy

. (8) environmental determinism
11 (4) stuationalism

o e e ettt T T L e

e R I G P Y T S e 2
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QUESTION 6
Which of the following children appear to be in the phallic stage of psychosexual development?

(1) Cathys approaching puberty She shows no interest in boys and has set up her mother as a
- role model

‘ (2) Lsa has just reached puberty and has suddenly become sexually aware. She and her friends
b are preoccupied with what boys think of them B
;v (3) Peter has not yet reached puberty and denves pleasure from fantasy intimate relationships 1
’- (4) John has suddenly become very aggressive towards his father and spies on his mother when ‘

she undresses _ - | | J'm
S +,ma,LJ 2018 -
QUESTION 7
- S
~ Jemy asks an attractve gir for a date When she tums him down, he comments to his fnends that -,
a he dxd not really want to go out with her and that she is really rather plain from close up Jerry is b
~ mvoking the defence mechanism of ‘
(1) reachon formation. 4
2 (2) denial e 4
4  (3) conversion ’
- (4) rationalisabon +
A — _I_ E—— — e e e ‘-‘- eetntnis :ﬁi3: - = — :~ ;-’J
L [ may 2oIS
QUESTION 8 o
-

A young mother has an overactive young son and he seems to subject her to a lot of stress She
F— appears to be exaggeratedly protective, and constantly wams him that he might hurt himself Freud
would probably argue that the mother's behaviour suggests that she 1s manifesting the defence
fr—— mechanism of (a) and that she (b)

~—— (1) (a) sublimation
(b) 18 suppressing her own aggressive feelings towards her child
(2) (a) resistance
(b) s avoxding aggressive drives
(3) (a) reaction formation ,
(b) secretly wishes to hurt her child herself [T
4) (a) demal ’
(b) 1 refusing to accept nommal social activity  S—
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QUESTION 2

i" Complete the following sentences The ego functions according to the (a) and the

This means that the ego (c)__—

)

(1 @ pnmary process

(b) reality pnnciple
(c) finds suttable pnmary reinforcers o salisfy the id's dnves by taking the physical,

social and moral reahty nto account

= (2 (a) secondary process
(b) reality principle : . .
(c) finds suitable objects for dnve satisfaction by planning and evaluating situations,
and by taking the physical and social reality into account
(3) (a) pnmary process
E (b) pleasure pnnciple b
F (c) seeks mmediate and complete satisfaction of the 1d’s dnves without considenng
1 anything but the d's immediate pleasure =
; (4) (a) secondary process i
, (b) moral pnnciple -
| (c) find suttable objects for dnve satisfaction by planning and evaluating situations,
and by laking the conscious and the ego-ideal of the superego into account :
L 0K W\ ‘
QUESTION 3
- }
The following story ts a metaphor (an example) of the structure of the personality, according |
to Freud's theory Please read it and answer the question which follows SRR
i
- A big mining company in South Africa expenences labour unrest The mine workers demand
more money, better recreation faciliies and better working conditions, including shorter
E shits Management realizes that they are In trouble, because they will have to close the v
1 mine down If they agree to all the demands set by the workers Management appoints an
" independent labour consultant to help them overcome the labour unrest The consultant
E should see to it that the workers' demands do not go unanswered, while at the same time,
management will still be able to run a profitable mining company ‘ -
r i — - 2
1 o €t 20l | s e
According to this story, the ego Is represe . e R ) i Lo
- represented by the (b) X presented by the (a)____. while the superego s
-~ (1) (a) labour consultant (b) management
- (2) (a) mine workers (b) management
(3) (a) labour consultant (b) m ok ;
@) (a) mine work S WOIkers e e
S VHKELS (b) labour consultant
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QUESTION 4

Read the following story and identify the charactenstics of JOWNS Bgaressve dovel John 18
an mxtramely aggrassive boy e gots involvad n strest ighte almost avary day, 10 which he
N}“‘h- up, Kicks and bites nnocent ahildren on the streets  John's fists, teath and fest are the
\',-1\' : of his aggressive dive The inocent shildren can be seen as thee (b)) of
;‘\ ‘Eg «ggmsswm drive Johin was 0nce in hospital for a whole waek) without any outlet for

s rassion: We can say that the (¢ i John's drive was very high when he ot
back to the streets ; P LS Y- ’
\l\ (a) source (b)  victims (¢) gonl
@ () source () object (©) impetus
) (@) object (b) source (e) anargy
Q) (@ impeatus (b) goal (¢) source

\\ N\, g \

QUESTION §
According to Freud, John, in the above mentioned story, has a strong
(1) hfe dnve
(2) ego
(3) deathdrnive
(4) superego

ocl 201y i

QUESTION 6

Ego drives are distinguished from the sexual dnves in that

(a) ego dnves are related to the survival of the individual, while sexual drives are related to

the survival of the species
(b) The ego dnves provide the energy needed for the functioning of the ego, while the

sexual dnves provide the energy required for the functioning of the superego
ego drives are not, hke the sexual drives, associated with moral prescriptions and guit

feelings

The correct answer 1S

(©

(1 (@
(2 (c)
(3) (a)and (b)
(4) (a)and(c)

e

FPRNCSIPNRERrl e o
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 QUESTION7 g
that in the case of 5
n differentiate between neurotic and moral anxiety by saying _{
: \:L?Hg?lc anxiely (a) , while n the case of moral anxiety (b) e
b . |
he ego Is threatened by actual dangers in the environment :_‘_ lk
i () 8 :he ego 1s threatened because 1t Is not strong enough to control the 1d drives -;
(2) (a) the ego fears that a forbidden, unconscious drive will become conscious and frd
uncontrollable
(b) the ego fears that the superego will pumish it for a forbidden drive or action: g
(3) (a) theegois unable to meet the demands of reality |
- (b) the ego Is unable to meet the demands of the superego 3
(4) (a) the ego’s anxiety stems from a shortage of drive energy which Is expenenced as
P discomfort, tension and pain (a7 ¥
Y 4 (b) the ego's anxiety stems from a fear of punishment by the superego if id dnves
- should be expressed e )
| 0T W0\
QUESTION 8
Mr Johnson has the desire to see women naked He accuses his male colleagues of having | .
— this destre, an_d he begins a campaign at work/in the form of a newsletter, warning men ~
- aganst women who wear provocative clothes According to Freud, this is an example of L___.
(1) denialand projection
- (2) reaction formation and rationalisation ?
5 (3) projection and reaction formation Lol o of
(4) displacement and sublimation » !
- ¥ = L
o (T oly
s i TR 1
B QUESTION 9 ‘ | i |
_ The boy In the phallic phase tries to cope with the Oedipus complex by means of the !
= defence mechanisms §
’ t
h-\_ (1) repression and identification r

. ' (2) fixation and regression
(3) displacement and sublimation
£ (4 proection and reaction formation

~ Scanned by CamScanneF
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QUESTION 10
Rationalisation 1s by and large ineffective as a defence mechanism because

(1) through rationalisation the psychic energy which was invested In giving reasons fol
your behaviour, Is canalised 1nto a substitute object

(2) 1t maintains the repression of unacceptable desires and it uses
psychic energy from the repressed desires without immediately lea
prohibition K 3

(3) through rationalisation the causes of anxiety remain intact and force the ego to keep up
its defences in order to become a strong ego {

(4) 1t does not succeed In reducing the energy attached to the unconscious and anxiety
provoking dnives, although rationalisation Is geared toward the alleviation of anxiety

a great deal of the
ding to further social

LA Nt A 1 il SR s Moy 10 1)
QUESTION 1
The id is selfish and unrealistic and pursues the (a)___ This means that the id (b)___ The id also

functions according to (c)___, which means that it is incapable of reflection and planning The only
form of drive satisfaction it 1s capable of 1s (d)___

(1) (a) pleasure principle (b) wants to satisfy its drives immediately
(c) the pnmary process (d) wish fulfilment
(2) (a) primary process (b) desires mmediate object choice
(c) the pleasure principle (d) object choice
(3) (a) wish fulfiiment principle (b) wants to satisfy its dnves immediately
(c) the pnmary process (d) cathexis and anticathexs
(4) (a) pleasure principle (b) wants to satisfy sexual drives before any others

(c) the secondary process (d) wish fulfiment

Mmaoy20ly + 00t 2612 + may ol
QUESTION 2

Freud divides life drives into two types, namely (a)___ which ensure the continued existence of the
(b)___, and (c)___, which ensure the continued existence of the (d)_

(1) (a) eros dnves (b) species (c) thanatos dnves  (d) death drnve

(2) (a)wddrves (b) pnmary needs  (c) ego drives (d) secondary needs
(3) (a)ego dnves (b) ego (c) sexual drives (d)y d

(4) (a) ego dnves (b) individual (c) sexual drnives (d) species
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QUESTION 3

1 Peter got out of the wrong side of the bed one moming He was feeling highly imtable and attacked)
everybody verbally Duning the day he accused his wife, children and colleagues of being impatient,
b and of attacking him verbally all the time What defence mechanism i1s Peter using according tow

Freud? \
- (1) Projection \ :
1 (2) Rationalisation ‘-.‘ ( k‘( | Q\(j >
g (3) Displacement - i e
(4) Reaction formation ‘
L YnOM 7o\ + OCT ’Z,ol‘L _t oy el
vl QUESTION 4
E

¥ According to Freud] one of the dtfferences between healthy and psychologically disturbed people 1s

- n the types of defence mechanisms the two employ to cope with psychic conflicts Compared to
‘disturbed individuals, psychologically healthy people are more sucoessful at employing the defence, ‘
E med\amsms of |

- (1) displacement and identification
7 (2)  displacement and sublimation
E (3) reaction formation and sublimation

(4) dentification and rationalisation ‘
S L

—— : —~

AN z2oiy  + oCt zolT + maAy 20l
QUESTION 5

Margie,visits a therapist about her sudden compulsion to clean-everything in-sight She cleans her
——  house twice a day and cannot relax If there I1s so much as an unwashed plate i’ sight She tells the
theraplst she 1s a devoted Chnstian and ‘enjoys a close,; warm relationship- with “her boyfnend
——  Although the couple are comfortablesabout their decision to abstain from sexual.relations until after
mamage, Margie's compulsion for cleanliness and neatness, Is ‘causing dlsharmony In the |
" re&ahonshup According to Freud, Margte could be descnbed as expenencing '

s
"—‘* (1) realty anxiety T
(2) neurotic anxiety

—— (3) moral anxiety |
4 (4) - neurotic and moral anxlety
T e — ; i it B st ot e e Rl
|

E Tl >
- Moy ol T 0k MR+ Ay 2|
’ QUESTION 6

Mr Wilson 1s descnbed by his colleagues and staff as a perfectionist and a shrewd businessman who |
—— has an amazing knack for saving his company vast sums of money He I1s methodical, organised and ——————
: meticulous According to Freud, Mr Wilson could be described as having a/an '
| (1)  anal personality’ ? g
"~~~ (2) genital personality i Lo o o
. (3) oral personality :: |
" (4) latent personality Py
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" QUESTION7 r

A patient who has been undergoing psychoanalysis for quite a number of years sudc:’en'yd'?a '2"3:;
7777 turns up for appointments When the receptionist telephones her she 1s most surprised and say

had forgotten completely about the appointments. To what would Freud attnibute the forgetfulness of L3 i
"7 this patient? * {
7 (1) Displacement o
7 (2) Resistance Sl
" (3) Transference
(4 Distortion - R v Nl
i——-——-—‘---maﬁv.:;,:'f:::‘::—'t':*r:;;w;w»--'r‘ T e R S s [ ]

- O it
—— Moy 0l 4 oct <e17 + moy 7o) | d —t |
| QUESTION
“‘_‘; When Dr Freud is introduced as Dr Fraud, which unconscious process (s at work here?
| (1) Projection i
"5 (2 Reaction formation, B |
&5 (3) Parapraxis |
1 " (4 Repression SO ] i’
e oL 5z aksalts BN ff'
Mou_2oly  + ock 792 + may 7oy 4
QUESTION 9 %

[ The personality type that Freud regarded as closest to the optimal or ideal state of development, 1s
" charactensed by a : :
! (a) lack of any sexual or moral confiict e - 4
L % (b) lack of fixations at pre-genital stages X The correct answer 1s £
~ (c) strong ego and a not too strict superego

; (d) satisfactory sexual relationship with someone of the opposite sex E1; ?l; %f :g)e above %
| a2 = 2) (8 i
' . [ et ) - B e S o . S e (3) (b), (c) & (d) i
| QuUESTION10 MAN2olY + oo 12+ may 2oy “f.)ﬁ_@i(.c_)_wﬂ,
In the'face of a pathological outbreak of came and violence such as we are eXpariencing:in South,
| "Africa today, Freud most probably would have suggested that we L e

_ (a), provide socially acceptable avenues for the discha
o, for example, competitive types of sport

rge of aggressive energies in ﬁ&ﬁfﬁrhotion S |

' 3 (b) strengthen moral prescnptions against violence to make its expression less éboeptabie ———M
| (c) wviewthese phenomena as the healthy release of the death drive and as conducive to society in h

: ! the long run . S e ISR -~y |
| @ cometotermsthithiefactthat the aggressive inclination 1s part of human natiire and that we

_L. Tean only hope fo curb but never to elimnate it i - e |

o | The correct answer is -—""’“

A1 () Aofthe above 3

o (2) (c)&(d) | ~

. ) (a)(b)&(d)y ' “"/

“4) (@)&() MRS e -
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QUESTION 4
Legotlo enjoys watchung high packed thnller movies as well as engaging in high-speed carracing: He finds

pleasure in the thrill, the rush and the sense of adventure and mastery he expenences dunng }hese activites
In terms of Freud's theory, Legotlo's enjoyment of these sports represents a way of satisfying his

|
|
[
|
!
!
sexual drive J

-1 ego drives
2 sexual and death dnves 3 .
3  deathdnve’
4 hosd

! .

o N e 07 BT AR AL LT s e ettt it

‘ O CL 01\3 A R
QUESTION §

Mpha's Mother Wes very strct about her tole training and punished her regularly: Mpho could thersforainot
complete this development stage successfully which led her to develop excessive neatnessas an adult”
According to Freud Mphor o —

1 became fixated and later regressed to the anal stage ——
2 _ regressed to the anal phase
;43., ~ became fixated in the anal phass

became fixated and later regressed to the oral phase S i

. ___lotrel3 N PRSI T
‘/QUESTIONG ‘

Mrs Naidoo tells a fnend that her husband regularly accuses her of having a lover and says he has proof of |
her unfaithfulness Mrs Naidoo complains that she 1s unable to convince him that she i1s not unfarthful Mrs

Naidoo's fniend knows that Mr Naidoo is in fact having a secret extramantal affair In terms of Freud's theory,
which defence mechanism 1s Mr Naidoo using?

Projection ‘

Reaction formation b o4
Displacement |

Rationalisation

BWN =

OLE.2019

QUESTION 7 b o

Mrs Smith drove past an accident on her way to work two months ago She Is unconsciously blocking the
memory of the accident from entenng her consciousness because the expenence is too painful for her to
handle Which defence mechanism/s 1s she using in this process?

1 Denial and resistance ' ,
2 Sublimation ' ’
3 Repression <
4 Reaction formation

e
N et~ orsraentea tn,

RS,
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QUESTION 1

rmm&m mm a8 a paychosocial conflict theory This means that the:mndividual = 4

1) dnves whe s
( ;m.,f\\n“ta'},? @ physiologically based, and moral prascrptions that are to be found in the social

, @ Jnves the
2 &) mmmmdm that demand immediate satistaction and moral presenptions of society that have been

(3) physcal-biological and psychic sources of
( e cal and ps) 8 of enar
. (4) ke drves on the ona hand, and sexual and ago%aa\va drives on tha other hand

)}'}C\\‘ TOIL : RSN S mss et ooy TR
QUESTION 2 ‘ T

Jonas was a senal rapist In terms of Freud's theory, Jonas's Qo

(Nmiaunable jg fancie ihe conflict batween his aggressive and Iife drives

~ (b) 15 unable to handle the conflict be |
. ] twaen his weak o !
(c) s able to meet the demands of a weak Id and ::?33'5 gr:r?:r:;g — | Y; uﬁ

' (d) bnngs pleasure to the d while coping with guilt feelings from the superego -
- The comrect answer Is

e -‘ - (1) (8) Sy .
2 @ o i
= @) @8 ) r

- @) (c)&(d) ""“"[ o

| QUESTION 3 ]

B

| ‘Sanku lives tys life:by the:sword - that 1s, he lives by hijacking'cars and kiling its occupants if necessary | o

7 Underlying Sanku's behaviour I1s his wish to hurt and kill tus parents In terms of Freud's theory, ithis Wish ; '

existson | '

[ (1) allthree levels of consciousness but not to the same extent j
" (2) the unconscious and preconscious levels of consciousness b - §

(3) the unconscious level only s .

~—===~ (4) the conscious and preconsctous levels 'v'

— . — D ————— i

JSTE— SR

USRS

Read the following story carefully and answer Questions 4 to 8 s -

e =

hen John was two years old; his mother became very impatient with his tollet traning and used to sma b
f\:lvm hard every time he did not get to the tollet in ime and soiled his pants John was a very unhappy lttle =
boy as a result of the way that his mother handled his tollet traning’ As an adult; he often used to wt:m::
| hommble thoughts about his mother, which made him feel bad' He was éxcessively mean and neat; whic b

tended to annoy his family and friends

s i el

S Y A T SRy
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: “‘»,,N o et
Bt 0 Moy zol2 .
Bl B QUESTION 4 s st i .
| 'gw..‘w.; In terms of Freud's theary, it is:unlikely that John r "
i : "
— E (1) had a strong death drive {
i s (2) became fixated in the anal stage of development {
Bomiidh g 2 (3) developed a strong ego -
g_ » (4) developed an overly strict superego |
| 5% : . . t
5 Y ; b Sl S o I NI s oot
R LTV 2y S | I
i - QUESTION § e e
' As an adult, John often used to think hornble thou e
> ghts about his mother, which
‘ he was afraid of his (a dnv »which made him feelbad Perhaps
‘ anxiety (a) __ dnve threatening to surface Freud would refer to this type of anxietyas (b) ___ -————-
. (1) (a) Wfe (b) reality e
| 2 . (2) (a) sexual (b) meurotc 2
‘ o (3) (a) aggressive (b) moral :
L Sl (4) (a) death (b) neurotic: L 3

i
. may zoit
QUESTION 6

1 Johnwouldoftentellothers howgrateful eractually was for the way hiSmGtERbroughthimup which has f6d |
- —— tohm becomingiextremely;neat, and what he callsicaréful with the way he‘handles his money matter$ In

terms of Freud'sitheory, he 1s usingjtheidefence;mechanismy E

(1) projection 5 _,

—— {2) reaction formation «-———g
2 (3) rationalisation i
- (4 identification T I p——h b
—_
_ lmay <otz —

i f

QUESTION 7 W

£ ]
;

John was excessively mean and neat, which tended to annoy his family and fnends In terms of Freud's »__M
= theory, this indicates that he probably fixated in the __ stage

(1) oral |5
| . (2) anal
. (3) phallic ‘ bz,
e . 1 2 (4) genlta| e asesarens sesoooTee o SR .,,-_3,:;‘,",',.'.',-:—"L"?"-‘—‘"”"'""""'" ST
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QUESTION 8 — L
John goes to see a psychotherapist; In terms of Freud's theory, it 1s the aim of therapy 19 b 4"'1.#"

(a) discover tha caiises of the patent's problems and make conscious the repressed urges of thepatent
(b) enable the patient to overcome the problems through more constructive ways of dealing wihthew,

... Superego and external reality - e = ~5
-+ (c)* re-expenence the repressed wishes and memones so that dammed-up energy can be utiised . £
'(d) teach the patient to expenence as much drive satistaction and as littie guilt as possible ~8
The correct answer 1s T8
(1) (a) ~8
== (2) (8)&(c) 5
- (3) (b)&(@) E 1
(4) “All of the above e 3
— i Moy o010 B B 1
QUESTION 9 . =
| Intermsof Freud's theory, who is functioning optimally? "'"
= (@), Lebo, who uses elfective realty testing and defence mechamsms that minimally distort reakity P
7~ (b) Sam, who has a satisfactory sexual relationship with Susan —
(© _ Mapenya, who loves his job as a teacher - i
(d)  Morpone, who has no conflict between her sexual and aggressive dnves, and the rules of society .~ \T»——» :
==~ The correct answer is .\%___,, -
'”""J“f“' (1) Al of the above .
[ (@ (a&()
T (3) (D &(e) ——
(4) (a), (b)&(c) 8
Encasueaenesmes pant - E . o o B el e e - "‘"'-?*""""‘
Ay 2012 .
| QUESTION 10 5

! IfFreud were still alive today, he would probably have the following adwice to give about curbing the wiolence .,.,....»
' and aggression, especially among the youth, in South Africa today

; _M*—r (1) There 1s anecessity to channel the aggressive dnve in more mﬂy acceptable wayssuch as through £
Nkt encouraging participation in sport and cultural activities at schools e B
' (2) Moral development should be encouraged by stnving towards finding meaning even in

-_..--m..-.. dfficultes =T

(3) People are born bad and there Is really nothing one can do to curb violent and aggressive behaviour

(4) Cnminals are self-destructing and you might as well let nature takes its course e

B it s s 4
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